BID CERTIFICATION SHEET	TS SUMMARY
-------------------------	------------

Bid Opening Date: 2.24.12

For: Lochnivar Copper-Fin2 Pool Heater

BIDDER NAMES >>>>>	Amber Mechanical Contractors	Controlled Environmental Systems	SG Supply-A Ferguson Enterprise	
Bidder Summary Sheet	<b>√</b>	<u> </u>		
Business Organization	<b>√</b>	<b>√</b>	√ ·	
Certificate of Eligibility	1	7	<b>√</b>	
Equal Employment Opportunity	$\sqrt{}$	<b>√</b>	<b>√</b>	
Sexual Harassment Policy	√	1	<b>√</b>	
Tax Certification	<b>─</b>	<b>√</b>	$\checkmark$	
References	√	<b>√</b>	√	
Insurance Requirements	N/A	N/A	N/A	
Bid Bond	N/A	N/A	N/A	
Total Bid	\$40,365.00	\$42,065.25	\$37,133.00	

\*A check mark in the box indicates inclusion of the required form with the proposal package. A "V#" indicates a variance that will be explained below.

VARIANCE EXPLANATIONS:

NOTE: If the potential recommended bidder had <u>any</u> variances, please verify with the Contract Administrator that they are not material variances prior to recommendation to your committee.

# VILLAGE OF ORLAND PARK 14700 Ravinia Avenue Orland Park, IL 60462

#### VILLAGE CLERK'S OFFICE

Subject:

LOCHINVAR COPPER-FIN 2 POOL HEATER

Date:

2/24/2012

Present:

Cathy Zuro (Clerk's) Denise Domalewski (Finance)

Time:

11:30:00 AM

Bid Submitted By	Address	Telephone	Amount of Bid	Bid Security Deposit
Amber Mechanical Contractors, Inc.	11950 S. Central Avenue Alsip, IL 60803-3402	(708) 597-9700	SEE ATTACHED	N/A
Controlled Environmental Systems, Inc.	16308 S. 107th Avenue, Suite 12 Orland Park, IL 60467	(708) 460-6333	SEE ATTACHED	N/A
SG Supply - A Ferguson Enterprise	12900 South Throop St. Calumet Park, IL 60827	(708) 371-8800	SEE ATTACHED	N/A

Notes:

Village Manager Grimes (Summary Sheet Only) Denise Domalewski Frank Stec

Village Clerk:

David P Maher

Date:

2/24/2012

### **BIDDER SUMMARY SHEET**

#### <u>Lochinvar Copper-Fin 2 Pool Heater</u> Project Name

IN WITNESS WHEREOF, the par	ties he	ereto	have execute	d this Bid	as c	of date shown below.
Firm Name: Amber Mechanical	Contr	ract	ors, Inc.			
Address: 11950 S Central Ave						
City, State, Zip Code: Alsip IL	60803	3-34	02			
Contact Person: William J Beu	kema J	J <u>r</u>		_		
FEIN #: 36-2814872						
Phone: (708) 597-9700	F	ax:	<u>( 708) 597–587</u>	5		_
E-mail Address: wbeukemajr@am	berme	ch.c	om	_		
RECEIPT OF ADDENDA: The re	•					
ITEM	QTY		Unit Cost		<u>I</u>	otal Cost
Lochinvar Copper-Fin2 Commercial Pool Heater	2	\$	18,405		\$	36,810
Lochinvar Switch Flow (outdoor)	2	\$_	293	-	\$	58le
Lochinvar Outdoor Vent Cap And Motorized Valve Cover	2	\$	731	-	\$	1,462
Lochinvar 75 PSI Pressure Relief Valve	2	\$_	75_	-	\$	150
Lochinvar Multi-Stack Frame	1	\$_	1,357	_	<b>\$</b>	1,357
TOTAL BID PRICE:		\$_	40,36	5		-
Delivery Time: 2.4 WESnumb	er of d	ays	from order dat	e.		
Signature of Authorized Signee:						
Title: Co-President		_	Date: _2/	/24/12		

### **BIDDER SUMMARY SHEET**

#### Lochinvar Copper-Fin 2 Pool Heater Project Name

IN WITNESS WHEREOF, the part	rties he	ereto have executed this B	id as of date shown below.			
Firm Name: _Controlled Environmental Systems, Inc.						
Address: 16308 S. 107th Avenue, Suite 12						
City, State, Zip Code: Orland Park, IL 60467						
Contact Person: Carol J. S.	imadi	s				
FEIN #: 36-3642957						
Phone: ( <u>708</u> 460-6333	F	ax: (708) 460-6377				
E-mail Address: contenvsy:	s@aol	.com				
RECEIPT OF ADDENDA: The re	•	_				
Addendum No, Dated _		Addendum No	, Dated			
ITEM	QTY	Unit Cost	Total Cost			
Lochinvar Copper-Fin2 Commercial Pool Heater	2	\$ <u>18,989.00</u>	\$_37,978.00			
Lochinvar Switch Flow (outdoor)	2	\$ 285.25	\$ 570.50			
Lochinvar Outdoor Vent Cap And Motorized Valve Cover	2	\$857.25	\$ <u>1,714.50</u>			
Lochinvar 75 PSI Pressure Relief Valve	2	\$138.00	\$276.00			
Lochinvar Multi-Stack Frame	1	\$1,526.25	\$ <u>1,526.25</u>			
TOTAL BID PRICE:		\$ 42,065.25	<del></del>			
Delivery Time: 45 number of days from order date.						
Signature of Authorized Signee:						
Title: President		Date:	1/12			
		12	ITB - Pool Heater			

### **BIDDER SUMMARY SHEET**

## <u>Lochinvar Copper-Fin 2 Pool Heater</u> Project Name

IN WITNESS WHEREOF, the parties hereto have executed this Bid as of date shown below.					
Firm Name: 56 Supply -	A Fe	rguson Enterprise	<u> </u>		
Address: 12900 South Throop ST.					
City, State, Zip Code: Calumet	PARK	, IL 60827			
Contact Person: MARCO Sp					
FEIN#: 36-2431392		·			
Phone: (6 ) 371-8800	Fa	ax: (708) 371-1465	<del></del>		
E-mail Address: MARCOS 2	<u>565</u>	upply. Com	·		
DECEIPT OF ADDENDA. The wa	agint o	of the following addends is	n araby a aknowladge de		
RECEIPT OF ADDENDA: The re	-	_			
Addendum No Dated _		Addendum No <u>N</u>	Δ/A, Dated		
<u>ITEM</u>	QTY	Unit Cost	Total Cost		
Lochinvar Copper-Fin2 Commercial Pool Heater	2	\$ 16,950.00	\$ 33,900.00		
Lochinvar Switch Flow (outdoor)	2	\$ 271.00	\$ 542. 00		
Lochinvar Outdoor Vent Cap And Motorized Valve Cover	2	\$ 650.00	\$ 1,300.00		
Lochinvar 75 PSI Pressure Relief Valve	2	\$ 69.00	\$ 138.00		
Lochinvar Multi-Stack Frame	1	\$ 1,253.00	\$ 1,253.00		
TOTAL BID PRICE:		\$ 37,133.00			
Delivery Time: 42 number of days from order date.					
Signature of Authorized Signee: Mus Spallasso					
Signature of Authorized Signee: Manual Spolland  Title: Hydronic SALES MANUALL Date: 2/23/12					